EARAROBEEIERT — 2 N— IBISH —F

20125F8A26H (H) 10m{£E2H

m%? BEikAE SR 3% (xwlw | lmEmml - |5 8 s e
[AE4£] 1% :280,000 ™ ~ 2#%:64,000”  337%&:2500M  43%&:14,000 " 53 :8,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— x5 HEBIEfE :57. -3-1- . — BEETE (£8)
N BT ESY 4 3 25 1(5_7)8 3-3-1-1 | 39.1 2 :3:)73; q:ﬁgg i1
L:x14vagR-5— B:UIL FRT7— L
o et [iim}2 :58. —4-3- X - REM (£8)
2 8 STI—1)—L 4 3 =5 1(518)0 4-4-3-3 | 39.3 1 (4528) /J\;;?ii "
L2y T bt —F7—K-FK B:OT LT r— W7 7 — L
TS i 3 S 1:58.9 2-2-2-2 |40.5| — 4 490 | WETEA (1£H8)
34| VTF77v2a 54.0 (5) t14) | EBEEA
R:TITRAFIEIL B:VXHLTT5ya it Tae]
SV 4 3 | IS 1:58.9 6-6-5-4 |39.7| — 9 449 | SHEB (1£E)
1 c AR 24 Fa A52.0 7€) (+10) EH58
R:24—-9)>50-X B:YINIS5EyYa R B85
© — = e =k FBE :59. —8-6- . — =/ EEN (EB)
1 :E JIN=F7 27 >4%)L "3 %5.0 (12519/24) 8865 1 40.0 s (4;52) ﬂ;ﬁﬁ‘a -
L:Fa740 B:hxiavii—F IE=Sie]
S0, (O =P BERD :59. —7-8- . = KiIEHK (EE)
6155 JyS Y R5D0 4 3 560 (12519/29) 7-7-8-6 | 40.4 6 (4_623) TR =t
LRINHEATR B:AYTTTFF mE EE
— 4 g 3 B3 | RENEC 2:00.0 5-5-7-8 | 40.9| — 5 444 | NIEZEF (EE)
71717 | 7> T3IX% 54.0 (1/2) (+4) | FH=EB
LTANWRTy a2 BIIXNIAVTSY BIRAUS
2 w 4 3 | BHEA 2:00.0 9-9-9-9 [39.9| — 7 428 | REM (£H)
g|glg|T-7rAY .0 (F) o) | FAET
R4 —FIHTT BAO—AILAL INEER =1
“ 4 3 | SHIBA 2:00.8 1-1-4-7 | 42.2| — 8 488 | HENE (1ER)
911 | P/ XTHY% 50 @ e |#ETYE
A= XA X1 B:IA>T—IN> IRKLRT7—L
® I—F—@EBIERL
13—4— 1,4,2,8,7,6,5,3,9
Ao=5"= 1,4,2,8,7,6,5,3,9
3T—7— 2,4,8,1,6,3,7,5,9
AT =gr= 2,4,8,6,3,5,1,7,9
[ N5
B 2 760M 74K 2-8 130 & 2-8 1504 &R 2-4-8 350F
# B 2 1004 2-4 490M B E 2-8 190M EE 2-8-4 2,500
8 100 4-8 260 B H 2-8 840M
4 1809

ABICOVWTRDTEEERROODE. TR LIV,




